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Unit 1, Vocabulary and Algebra
~Notes 1-2: Segment Addition & Angle Addition Postulates

Segment Addition Postulate -
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Ex. 1. §,D, and T are collinear, and S is between D and T. If DT = 40, DS = 2x -8, and ST-
3x-12, find x, DS, and ST,
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Ex. 2. S,R,and Tare collinear, and S is between Rand T. If RS = 3x+ 4, ST =2x - 5, and RT

= 34, find x and ST. 7
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Notes 2-3 Segment Addition & Angle Addition Postulates

Angle Addition Postulate -
Powt + pPouri-= Lihale.

Ex. 3) Point D is in the interior of ZABC. mZABC = 4x-20, mZABD =x-4, mZDBC=x+6,

Find x and m£ABC. _
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Ex 4) Point D is in the interior of Z ABC. mZABC = 108°, m£ABD = x, and mZDBC is 2 times
bigger than mZABD. Find x and m£DBC.

EY AN
%]
\0T
e
1
1% g L
C. H = R\n
R = 2”7
X T 1';4 - %O&l
RS _

Uy = T



Geometry Name:
Worksheet 1-2 Date: Period:

Use the Four-Step Problem-Solving Procedure for each problem. Write your final answers
in the appropriate blank.

Segment Addition Postulate

1. SisbetweenDand T. If DT =60,DS = 2x -8, and ST = 3x - 12, find x, DS, and ST.
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2. FisbetweenEand 6. If EF = 4x 20 FG = 2x +30, and EG = 100, find x and F6.
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3. SisbetweenRand T, If RS=3x+1, 8T =2x - 2,and RT = 64, find x and ST.
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4. M is between A and B and M is the midpoint of AB. If AM = 3x - 1 and AB = 40, find x and BM.
2} L. ZK fzx \MMQ .
0 L o
2(3A) -\ (ox=4L
1.0 lo Lo
Angle Addition Postulate (Use picture to the right for #5 - 6)
B. mZADC= bx-20, mZADB=x-4, ms BDC=x+b. Find x and mZLADC. Sy
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6. mZLADC = 116", mZ ADB = x, m£ BDC is 3 times bigger than m<£ ADB,
Find x and m£BDC. -
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Angle Addition cont'd. (Use picture to the right for #7 - 9)

7. mLMPQ = 10x + 8, mZMPN = 2x, mZNPO = 3(x + 9), and m£ZOPQ = 4x - 4. Find x and m£NPO.

X =
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8. mZQPO = 4x - 4, m£OPN = 16X, m£QPN = 96°. Find x.

9. msQPN=96", msOPM =82°, and ZQPM = 118°, Find ZOPN
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